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General Instructions:
/ 1. All questions are compulsory.
2 The guestion paper corsists of 31 questions divided into four sections A, B, C and
L) s don-A comprises of 4 questions of 1 mark cacl; Section-B comprises of 6
/ -.luutuma of 2 marks cach; Section-C comprises of 10 questions of 3 marks cach and
Section-D comprises of 11 quessons of 4 marks cach.
3. There is no overall choice in this question paper.
4. Use of calculator is not permitted.

T|UE-31 / SECTION-A
Prof e B PR o o b e

Question numbers 1 1o 4 carry one mark each
1 AABCH, s ac | mwn-fag X #13fg Xy||AB &, @t fog Fifwe 5 v '\ aAp w1 ma-fag 1

In AABC, X is middle point of AC, If XY||AB, then prove that Y is middle point of &8,
2 afz Apqr ¥ =5 M p, q 3 r €, 3 T fF Bc

P+ Q) [R]
mn[——— =cob | —
2 e

If P, Q and R are the interior angles of APQR, then show that :
lun[P = Q] = cu (%]

3 T sech + tand = x A1 sech — tand & TR 77 Fifaw |
If sech + tanfl = x, find the value of secll — tand,

4 fret gz #, 7o o merE T o5 et 0 o E) ww smvfaw s mwm Fw gL W
#TA W ALESF W HAAQ x

In a cerlain distribution, mean and median are 95 and 10 respectively. Find the mode of the
distribution, using an empirical relation.

Pagaloft

Downloaded from http://jsuniltutorial.weebly.com/
L

OP4BIJEI

(=

[=1




"

WUZ-T [ SECTION-8
99 WEN s W10 W welF & 2 37% £
Queslion numbers 5 to 10 carry bvo marks each.

* wim f5 PR W vew denm o % fem wen o0 siw 0 W owwa W @ 2
el B
Show that 9" cannot end with digit 0 for any natural number n.

5 st favrm ey oL 2

27x5’
Write the decimal expansion of i without actual divisi
I 2—2;;? on.

7 i Fitee, fw Fm e w1 g et we ol us fig w vfress & € mis § 2
AT TR €
dx+y=7
6x+2y—8
Find whether the lines representing, the following pair of Linear equations intersect at a point,
are parallel or coincident :

Ix+y=7
br+2y==8 ;

8 70m M 20m AN EV 120 m MW WG & wE ol FAw @A 2
Twao pillars of heights 70 m and 20 m are standing 120 m apart. Find the distance hetr.«n-f% '
theu' tops. :

9 = 60° 3B = 30° FRATT 1 cos A, cos B 3HMTcos (A + B) 3% 7R TG #1 cos (A £ B) = cas <2 ['
A+cospi? g }
Take A = @& and B = 30°. Write the wvalues of cos A, cos B an}*
cos(A + B). [scos(A +B)=cos A +cosi? *

10 7 Aot 25 R WA E (%) SR mﬂﬁmmﬂmﬁml 2

TR <1 50-60 [60-70 |70-80 |80-99
(v )
= 6 18 2
The following table gives the literacy rate (in %) of 25 cities, Find the median class end modal
class.
‘Literacy rale 30-60 | 61-70 [V0-BD | BO-90
{in percent)
Number of cities | 9 | 6 [B 2
B{TE-H / SECTION-C
WY HEA 11 9 20 9 w0 w3 HE E
Question numbers 11 to 20 carry three marks each.

1 W e F TE H 7 Wen 3\ A 5 B 18, 24 7 36 7 geiwm faafam ) 4
Find the greatest number of six digits exactly divisible by 18, 24 and 36.

12 g FfY AT a1, ARy - B 4 19y — 12 T e & o | Fave gemiiem g 3
Tenfaa Fifaa
Check whether polynomial x =1, is a factor of the palynomial ¥ —Br +19r-12, Verify by division
algarithm.
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WEWE x* —Tx + 6 & YAF A ALY 3
Find the zeros of the polynomial x> —7x + 6.

xﬂmy%fﬁ'ﬂﬁm: 3
L

x ¥

2oto5

r oy

Solve for rand y :

x ¥

gL

x ¥

o e 7, fag St fr frol & o 1 am sEe g S A F e p A em ) 3
In a rhombus, prove that four times the square of any side is equal to sum of the squares of its
diagonals.

st #, 7 ABEA = ACDA &, T fag Fifs fi5 ADEA ~ ABCA ¥ 3
A

D E

B C
In the figure, it ABEA = ACDA, then prove that ADEA ~ ABCA.
B .

D E

B

ﬂﬁtaﬂﬁcl%,?hﬁlﬁta+ sin A 1 HH T F 3
2 sinA 14+cosA

IflanA=l.findthevaIueofMA+ sin A ;
2 sin A 1+cos N

fog =im fw . 3
cosecA — sinA sec’A — tanA

cosec + sinA & 5(_\(23\_ + t,a,ni,b,

Prove that :

cosecA — sind 3 sec?A - tan®A

rosecA + SINA  sectA + tan®A

wiz freafuifiga 528 o1 A0 54 &, 1 99 aem x 8 HF 3
Ei 0-20 2040 10-60. | 60-80 80-100
Ak | 16 14 P 26 x
If the mean of the following distribution is 54, find the missing [requency & :
Class 0-20 20-10 1060 60-80 80-100
[Frequency {16 f14 |2 | - T
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T (%) 3040 |40-50 [5060 |60-70 | 70-80 | 80-90
el i WE 6 7 1w |s 8 3
TEETF TR S I FTA |
The following table gives the literacy rate of 40 cities :
T iteracy rate (in %) | 30-40 | 40-50 | 50-60 | 60-70 |70-80 | 80-50
| Number of cities 6 7 10 & 8 3
Find the modal literacy rate.

TUE-T / SECTION-D
¥l Wem 21 8 31 7 TR & 4 30F T
Question numbers 21 to 31 carry four marks each.
AT 1, (n 4+ 1) 8 (n+2) H & T Faret o w3 9 for & Sl n B oo i & 4
Show that one and only one out of n, {n+1) and (n+2) is divisible by 3, where n is any
positive integer.
AETE 2+ 33 — 1622 — dx + 48 5 D Y 2 7 —4 &1 T woll I 9 S a
Obtain ali other zeroes of the palynomial x1 + ¥3 — 16.x2 — 4 x + 48, if two of its zerocs are 2
and —4.
TrTETE wg-vitdl ¥ Oy = x F s add B Y T R 1500 7R FRUi A xagmwmA vfw 4
X B &1 T TR A T 100 7 9, 6 U T I F £ g o e e v we
) 3
For uttarrkhand flood vichins twe soctions & 2nd B of Jlass X contributed } 3
7 1500. if the contribution of X A was ¥ 100 less than that of X B, find graphically the amournis
contributed by both the sections, - ™~
A TE 3y 4+ 5y = 15, 6y — 5y =030 37T ¢ =0 7% G=n s 7ok =) S T 1 7 7 W A 4
A5 Tt ¥ virsea g TW w46 38 S F Awa off 3@ S, 6l wd o ke #
4
T WER 35 H A @ R v i SIaER A e 51 €2

Three lines 3x + 5y=15, 65— 5y =30 and x =0 are enclosing a beauliful triangular pack, Find
{he points of intersection of the lines graphically and the area of the park if ali measur:ments
are in km,

What type of behavior should be expected by public in this type of park 7

Hrmﬁ(‘f}E%ﬁﬁfﬁFﬂ'ﬁﬂﬁaﬁﬁm?-’F-l’T4Bcﬁ=.5ucp_,\c=ﬁme,mcf=um%1 3

E

Wias

b
f

/D

Find the Iength of the diagonal of the rectangle BCDE, il #BCA=£DCE, AC=6 m ard
Cr=12m. ; ‘
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2% vanfoadsom @ ABCD Ftyw D s osam-fag MR BM, AC R L mam sz T 4

AD =1 £ R fuemn &1 frg =ifsw & pL=28L &1
A B
/ 7
7 M C
E

In the adjoining figure, M is the mid-point of the side CD of a parallelogram ABCD. BM when
‘joined meets AC at L and AD produced at I Prove that [L=2Bl.

: A B
i ?f v { '

E ;

27 afg 0=30° ¥, W fAafefaa w1 qenfug =iy 4
(i) cos 30 = 4 cos30 — 3cosh
{ii) sin 30 = 3s5in® — 4sin30
If 8 = 30°, verify the following :
{i) cos 30 = 420538 — 3 cosh
(i)  sin38 = 3sinh — 4sin0

2 - 241
i ‘Q'ﬁsech—lanhsth?"ﬂiqﬁﬁ 5 =—m5ecA%I
; o

2

x*+1
Ifsec A — tan A = x, show that —5 .= T osech.
p i ) !

29, fog wifsm = - 4

cosecA = olA F! cosech + catA 1 + cos=A
cosccA + CotA cosecA — colh 1- cu-slh

Prove that:

2(2cosectA—1) =z[

cosecA — cotA cosecA + cotA 1+ cos®A
cosech + cotA cosecA — coth 1—rcos?A

30 wF Fa F frmfelst @ oA @ foerd o d 1

2(2cosectA—1) = 2[
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B X 3 1o | 100- [120-  [140- [ 160
L 1060 6080 [B0-100 |49 |yap  [160  |380
|vgwEen |12 | |u [ |13 |9 |5
TS 3T S] & Sge® a9 GTAF § R |
In an apple orchard, the number of app'es on 80 trees are as {ollows : g
Number  of | ' Dilie G2 [ 1e0- | 160
A0 | ob s
appizs el | apdee | Bosig I 1.0 140 160 180
1
Sl DT 11 14 l 16 13 9 5
trees .

Pape b zfi

o . |1928[ 1467 1508 | 1540 | 1589 | 1620 | 1668 | 1708
AT em H)

=l 1 Y FH =H R TR TH
faartv= = "

Fram i 5 19 47 62 ri=] 79 80
SIS ST A TR W %9 WER 1 OO G9Y, 491 58 9% § SrEE o ST ) T
Tiewe & e w1 WA o wifg)

In a class, heights of students arve recorded as follows
Heieht Less |less |Less |Taoss | Loss | Less |Less | Less
(in é“’m} {than |than |[than |than |than |than |than |[than
142 JEL] 150 14 158 162 166 170

Number

of 2 5 1u 317 62 Vis] 749 i)

students

For the above data, draw a ‘loss than type’ ogive and from the curve, find median. Also,

verify the result by actual calculations.

TE F U= o 4, 80 TSI W WEl #1 T A ol m E .

Find the maode and median of the above data.
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